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Level Up Your Korean: New Transcription Format

To enhance your Korean language learning experience, we've decided to provide more
authentic/original Korean transcripts starting from Lecture 18 (Unit 3) onwards. While
English romanization will still be included for reference, we encourage you to prioritize
reading and understanding the Korean script directly.

Here's a tip: Start slowly and gradually increase your reading speed. If you find it
challenging, we recommend reviewing your Hangeul lessons.

Remember, learning a new language takes time and effort. You can do it! Keep practicing
and stay motivated. o2& & 4 lo|Q! mto[&l!

ojz|& ohdstA|e. (QhIstA|R ) QhdstHR. (QhystHIR. ) @ 2 A2]2 2 A2]2. In a loud voice, okay? TH
SHH, S o 812, 02| This is early morning, uh that's why you feel a little bit tired. ©F%] HjojQ? o}3l?
(4.} 4], olL]2? 9]... You have to have your breakfast regularly, okay? Don't skip your breakfast. o}%] &
EAl2. oty B Hojof 2. OK THA] 3 ¥, TjA] & ¥ AJ2F. (QRFstAR .} QhgstAlR. u), Aloje. v £2] g
oA A, R, . H|, 22{H 28] NPTEL 5007 [ et o
Qlrts Q. A2t QFgEIA| ], ohd. . Y], next one. OK let's see. This ¥
is you know our cover page, right? So 25 £2] 25L& 25% Unit
6 Unit 6 Lofele? Antdfl? Unit 6, 6 Ik, 6 ] AFL
dotoflerde. EE Unit 6, 6 It Hige wspista

2| AU(listening) FE3NK. OK? MotQ?

Y|, 229 U5}7| first. 'Wot7| Lol7] B3}7] first, okay. Oh if you see this picture, you can see the grocery
situation, grocery store situation, right? Uh what can you see here? #7} 20jQ? #|7} QlojQ? of=|& of7|d
7} qloj22 {7} 9o 22 0]2 of AR AlFo]o) 2, market. AlFolo] 2. Hof|2? o] = Hf|_? o7 = Hll’? oA =
Hojl 27 o] Y|, vegetables and fruits, right? OK Vegetables OFXf OFXf OFx| OFY, fruits fruits I}2... Yeah yachae,
gwail, say it together. OFX T}, ofxj 1}, ofxf] 2}, ofx 1}, We can say OFAl 71, ok 7HA] or 24 7HA|,
2 7H|, okl 7HA|. Gage gage, you know gage, store or shop, uh gage gage. 71| say it again A|2}, 71| 71|
7HA|. ofdf, 1Y 1} okay, OFAf| vegetables 2} fruits, okay. 012 Y. Uh there is a person here, right? There

is a man who is selling °FAf and 2} right? We can call him like you know OFA&], 7}A| oF2{K], o}A|H] because



you know he is a man, right? OK especially for a man who we don’t know, we’re not close to, okay we can
call him “ajeossi’, okay? OFA{&] o}-Z]-K]. But sometimes you know if you call a very young man A%, they

can feel offended, okay? So you have to be careful. We usually call an adult man who is in the age of you
know in the middle-aged uh middle-aged, okay? Or older than you, right? Yeah then you can call you know,
ajeossi. We can call him ajeossi. Is it okay for you? So be careful. So if you want to uh if you don’t want to
call him ajeossi, because he is so young, and then you can just say 7|2 #17]2 #17]2 #7]2. You can start...

21712 A7]8 #7]8. This is not calling somebody okay? Just you know starting starting conversations
between strangers, right? OK #1712, A7|2. Sijak, " v
jeogiyo, one more time. 7], %718 OFAK], okay? 4) * )\

OAK, o|A <Zmpea? OK? oA <Zniela? oA
dojelg? OK Y] EojEAR. o7l o7l Y
7M. 22 ZHA]. 4, 22 71| You can see only
fruits. 2t 7H] 2t 7H] okay. OFAIK], oFAIN7L Sloj 8.
OFAM|7} QlojR. ofAH is selling fruits here. OK so

you see you know English translation here and then,
listen to Korean Korean conversation, okay? Try it. Y ‘ ) 440/ 1401

“ofz{y|, 21z] Antf|le? oA ofl 2 Holo’. Afat= LnjaflR? Al 7ol o] Hojof|a. H7t Bigloje? RE
giololg. O3 oA oAl 7] RAH|Q. AlZtE A 7 A 4], o}7] 9loj8. E A2 Wote? Y. OK g o, &
H o, ). “ofx{k], 23] Anje] 27 o}A FHof] 23 Yojof 2. Atut= Anfef 22 A 7Ho] o] Holofl2. F7t Bigleje?
REoglole. O3 IR oA 7] FA|R. AftE A 7 FA|R. Y], 7] gloja. E 4|2 . o3i3le]_? Did you
understand? {4].} Did you understand the context, all the lines here? U] 4], okay. 0. Now we’ll see a
Koran version. U], oJ2]&. ofx{%] o}A#|. Repeat after me. OFAA], 221z &nle] Q2 OK OofAA] ofx4|, 237
2Antofl 22 You can just say QHgSHH|R, OFAK] or A7]Q, QFdotA|R. 23] Antof| Q7 of7] Atn} Lot Q7 44t
dofeR,  okay?  OFAH
Q] Antol 22 A2}, ofx{H|
2&12] dntfle? OK %A
7Hofl A 7ol 7 Holeflg.
oAl 7ljof] @ YoloL. 3 H
o, {o 7ol 23 ool .}
o 7 o34 7N, A Aol oA
Ml 24 Hojd’. 5,000

won for six oranges, okay?
4, A 7of] 23 Hojofl2.
A]’E’_]'h oE.]n]_oﬂ_g_? {A]’ﬂ}h n Salesperson  Okay, here you are, Come again,

Mariko Sir, how much is an orange?
Salesperson  Itis 5,000 won for six,

Mariko How much are the apples?
Salesperson  They are 2,000 won for three,
Mariko What tastes good?
Salesperson  All of them taste good

Mariko Then give me six oranges,

And give me three apples, too,



Aot g2} o Zo] AR (Atat= drotofl2y Al AHoll A ZHell A ZHoll o oas o, 2oeges
Holo|2. 2,000 won for three apples, right uh? Al] 7Ho]] o] @olof|l_. o ojoj
M7t Bieloje? (F7h Bieloje ) 7t Biglo|f? (H7t Biglo|f2) OK Wl nieim we wojer

Which ones which fruits are good here, okay? So what fruits which o}z o2,
fruits taste good, okay? F7} Brlo1R2 F7} BI9lo|82 Mwo means o215 s oo

what, right? #7} BF]o1 22 H7} a subject here. H7F BF101Q2 BIITE o 25 agie

okQlo] 2 -BIIO1Q . You remember that, right? $7FBHQlojQ2 8t T nan oy 242, MFE A 7 242
271 Bigloj’, #7F BQloje? OK B& Bioloje . (R&F8RJojQ Y BT oy o o7 goje, = 942

oigloj. (5 810j2 } Y] R modu means? {All} All all, everything here, okay? 2% BFlo|Q okay. B25&
oiglojg. Azt REoiglo]e . (R BiglojQ 1 U, H8Ho|Q. Yeah this is kind of a little bit funny question, right
here. If you ask this question to 7}A| OFA&], you know every vendor they would say all are good, all are
delicious, right yeah? But you know we usually ask this question, uh okay? 4|. Yeah maybe we believe uh

them, we believe in them okay, we believe in what they’1l say, right okay? So from season to season they
can recommend good fruit fresh fruit hmm okay. H7} 3310|272 TA| A|2F H71 8iQlojQ? R & Bijloje (RE

oolel2 .} J% then then then, 231] o4 7] AH|Q. 281Z] 6 7] FA|8. AltE M| 7] FA18. OK give me six
oranges and three apples too okay. AtZHE AtZE A| 7] 418, 4], 0§7] gloja. (Y], 7] Sloj.} & A8 E
2M|2. E QA2 E means again. Please come again, okay? E 2A4|R. 4], 7] Qloj. E A2 E 2A|Q Y],

2ol ). o2 EE0L [obH, o gulofar |
S5 ok | el oo,

129 oA of2]&. Translation, okay? Y. I'll say English, 2|0 I:E!}:“ Juojo 27 I

you say it in Korean, okay? #got? 4|, Z7|8. Sir, oF*{%| 0 OFF{M | 4 7Rof o} folof. |

okay. Sir, how much is an orange? {OF*¥|, 23IZ|7} Ze/0t |%]7]' A5kl I

O |RE%ilojg,
2|0

dnjafl 22} 4], it's 5,000 won for six. {4 7Holl} oA 7o
{23 Yolo 2.} 23 Holo 2. How much are the apples?
{At27} 2otef|l a2} Atate Eoo|R? They are 2,000 won
for three. {A| 7Hof] o]3d ¥ojofla.} A 7Hofl o]X HoloL.
What tastes good? {#7} BIQle1 22} All of them taste good. {25 8tQlojQ } % 8klo]Q  Then give me six
oranges. {15 23Z] oAl 7] 4|2} And give me three apples, too. {AFZIE A] 7]} FXH|L.} Okay, here you
are. {4, 97| qloj2. E 248 } E AR E A2 U] 3ol 227} utd 7] 7}A 2hd 7)) 714, 2317
oA i Azt Al 71 AtolQ. Fote? Q31x] ojAl iRt Atz A 7H AtolQ. |, T4 7HA] olAK E Tigtola. ], It
ZHAIIA 2317 oA FH Atk A 7] 4toj_. of2{R, BE dntof|? BE Anfgleje? BT Anfgiel’? @dIx] oA
7 dotglole? 23] oA 7H, of? 2&fIz] o} 7 Lot o222 5,000 Y 23 9@ 2 @ 23 Y. of At} A 7H
Atak A 70, bzt A 7] Lokl 22 {2,000 Y} o] o] Y. BE Anfell 22 {7,000 Y.} Y], Lot AW Y. U], Zhote.
A YoloflQ. B & o} A golof| 2. All together. Y], 2 YoloflQ. 4], ZglolQ.

;2.1 lil'*lﬂMMa.ﬂg}_E_.+l ca

4, o gole, £ oe, |




|| 2 ¥ 2 ¥, 2 Mo = Hfst 1L HiSt L 719 71918 AtL. HStLL 7|91 E AFL. i F ZHofl v & ZHof] Aot (2 ¥}
24 7 9. Qo301 22 9]? You forgot? YojHFH0| 22 U], 7]t BH 4. OK. This is 1(¥), 10(4), 100(H),
1,000(3), 10,000(3) um. OK. & Al # H qF A12F (A ¥ A gy 9b ¥ o, (2 4 ol X oy FotR. 719] 719l
2 7Holl dufela? 719l 2 7Hofl EotoflR, 2122 {8,000 HololR.} %otL. 8,000 Holol.. BH 4 & T, OK.
1,10, 100, 1000, 1000. 8,000 ¥. OK. 8,000 8, FH Fofofla.  .2¢ | Z2J0p | ofj), uf Ynto 27 |
Y, £otg. I 2] HtR. Let's try. Let's try. U|. [ am Priya. Th (::;1:)” |%:“ AgellL. |
You are OFAJH]. OK. o] Q'gstA| R, of{#]? vl Antof| Q2 Y. ® ;WI“: gi‘ﬂ:ﬂﬁ‘@ﬁﬂ& }
Just a second. Hl} is a pear here. 2}, pear. Hi Hjj v Fojof 22 Z2)0b |57} niglolfr \
OXM | R Biolojg, |

57 3412.7191= 2 7

But this is also Hl|. This part, okay? This part is also H Hl.
Or a ship S-H-I-P okay? Ship is also H. OK. Y|. But here, |,
Y is a pear okay. H] Hutf|Q? HY of Hj Anjf| Q7 THA| T}A|
N2, EA12. ofAK, QhgstAlR. Hf dntol e (5 Aol g R uie ol

olofl2.} o] 7] 7]9]= Fntel 22 {F 7ol B Hojo| ..} H7t Bigloj’? {RFBiglola ) of 23 vl & 7] FA1L.
7191 B AL (U], 971 lole. E A2 .} H|, H3loje. T 2A|.. Y], A3lo]a. Y o]Ax 2 Holde, 2 ¥ o,

2] 39, 3 Hofl= 71 9lol R, of2{ &2 3 Hiofl= TIRIHE okay? TRIGHE Gloje. 2= gloje, 2& qloje. IRIE
3t 7] dnfofR? of7] HAR. mRIHE 1 7Ho] FntoflR, o222 (AR} o] 4,500 d AR Yoo, 1(Y),
10(4), 100(*#H), 1,000() okay? 4,500 A A 2H Hojoa. U], 2 Fntef|? 227 G 7ol A 7Holl E 7Hol
ot 22 5,000 ¥, 27 Holdla. F 7ol 2% Holo|.. G 7ol 2% dolofe. yl. 2H FEML. Let's go. Now
you are Priya. I am OF&&| okay? Let's go. OK A|2} {O}*{¥], T}QIojZ Zn}e]|Q2} of Gt 7jof] AR 2#l ojof Q.
(22 dotle2} G 7id] 23 Yoloa. (F7 Bigleje?) BT i, 230 | oFAi), mpolofZ
giolole. (13 TilohS @ 7 FAe. BE ) Ay, T O] ol e

|
*32 LH T |
_ N _ Zejop | @2 2
ol glola. E oA|g. U el AMIR. OK BRI 048] @ {3,,]3"2', - I
|
|

AXIL. W, FotL. HFojg. Y|, 3ol TRIKE o}7]. OK Z2|0p | %7heiglelr
let's practice this one, okay? 15 T[QIoJE 3t 7] FA|Q. 2% (TS
27 2412, OK 7% TQIo}E & 7] 2412, 25 @ 7 241, ST
CHA 3 AJZF (O3 miRIoE oF 7 2412, 2= B 7l FA4IR.)

OE:] 7 H —7;“—1\'“_9_ L-“, giﬂq-& }l »l 4§ ORT

OF& M|

)
EEIOF

4], o] 4 ¥ 4 Holof 2 4 ¥ 718 o] 4 Hof| 7} 9loj 2, of2{E2 4 Hof F7t gloj 2 7[5t W&o 9loje. B7Ist
M 20] Qlo]Q okay. B7]|+= €022 What is the unit down here? 3 BtA Sk A You remember? §t, &, A,
4], okay? g ¥t Ao Anje] @2 (I 9.} T 9. Totolg. Aol e I fojofe. 22 Antdlgr HME2
Aot e gk 7Hofl gt o] gt ZHofl & ol RiARE fojollg. ] B7]= & dhAof T Y, W22 g JHof] ThARd
gololg. 4. oK U, 22| 22| A3 K. Tam Priya. You’re OFAK|. A|2F. QIstA|Q, of#{K|. B7] o] B7] Lot 22



(g b A0] R Rolofla. } 3 uhAo] BHARY Folole. of o7] | o%  TA0F [of, 2] Foleflar

4
~
-

\ |

Mz onjol@? (3 o] oF Al Yojof@.) o Abd Yolofe. - UIAM | g ko] BRI ol 2. |
T “]'°}°ﬂ | ‘:H:]'O ]- L ]:ﬂaqti 5t HFA 7~]0ﬂ ® Z2(0p [Hg2 dnjofar I
o FPERINRY (B B0 H, IR D A FA. OFFM |8} 7Hol BHAH Qojola., |
W2e o 7 2AQ. (U], of7] Yol B eA|Q.) Y], Qhdd] 20 |7} giglolar |
|

LM  [R% BHolojg.

Z2|0f |23 9] SFEFA 24| H2 T §
s 2A4)9.

AMIL. OK. Y|, o8, Y| £o}2. J2{H oHojl= this time,
uh you are OFA¥], right? Let's change our roles. Uh did we?
Is it correct? 4|, £otR. o] ofx|, E7] <ntee? (3t
HEAO] ...} (laughing..) Oh okay, I was confused. FZ3o|Q. N iimzmum
Hetgallyeosseoyo. You can use you can use this kind of expression. 81Z5ojQ. S1Z430jQ [ was confused
okay. OK so you have to start, right? OK let's go. Let's go. A2}, {OFA¥|, B7] Lnojef @2} gt HrAo] ot Abd
dolofla. (AE2 Aufele?} g 7Hofl 3t ol AR fojoa. (F7t Biglele?} 2F Tt g’ BF Bigloje.
(2P Q7| SHEIA ZA|Q HE2E 7] A2 Y|, 07| QlojQ. E A2 A7t 25 2 St EEAIL. For free for
free. Gyul hana deurilgeyo. I 2X]|8. ZFAIZILICE. OK some some people do that okay? It's like a bonus. For
free for free okay. U], £0}2. OK but you should not call me ajeossi, right? Because I'm not uh I'm not a
man I'm not a man okay. Yeah. In that case, you can just you know, initiate your conversation 27|82 #7]&

okay. You can call me like, you know OFFHL] O}2ML] okay. OFAK|, o} FHL] okay. For a male adult, ajeossi,

for you know a female adult, ajumeoni. But sometimes you know uh you know, it can make old middle-
aged women you know offended, when they are called like, you know °F5HL](ajumeoni) or ©t& 0k (ajumma).

So yeah it's safe not to not to call women L] or 150} yah. But it's okay sometimes yah. You are young

you are you know, so it's okay. U, $ot.2. 4] 22} o]A] 4 §io|glo] g, of2{E.

J2{H oA of=2|& x}Ho| 2. Your turn. You know, right? 02|82 &&? 4|, okay. Let's practice um. 1 ¥ & Alg
1 & ARt & SolBA|Q W] 1 19, Just try. Give it a try uh. 18 okay. 18 1. 2H 28 of 28 21,
3R 3L 3H. 3~ 3 39 39 2], ] 3 31 okay 3. 4 W1 4, U], $ote. J2{H o] Fujsie,
o2&, Prepare for that uh. L}2A|Q. 1 HEEH 1 HEE ZA|Q. Don't call her °tAA], okay? Maybe #1712,
OFFML] okay? QHd5IA|R, oFFHL, politely okay? OK Let's go. This is 1 ¥, right? This is 1 ¥. “Student A:

Z2l0F [ ol 2037] atfar [ orgstila, M: ShACIIUCE Student B: ShgstAIR, A=

OFX{A| | Ssiiol @giolol . | . ' .

D(0b |Afahe Unjo @7 | AFEJOFILIE}. Student A: 11?]3, ofZmL|. Qx| njo] Q9

OFA{M |’4|7H°H o] Yolo L., I Student B: 94 7jo2, 2% €olof_. Student A: AtTt=

Zelor |-‘,’=]7]- sl1er | Antel 22 Student B: AJ o] A] 7ljo]] o] o] ZHolof Q. Student A:
|

OFZ{AY

2ot 771 5310122 Student B: 25 83101 2. Student A: 23 2717]

oA ZAR. AlILE A2 FM|R. Student B: Y], 947] Qlojg. E

T QM. Student A: ZFAISIL|CE” Y], ZH3lo]Q  HF4 HEA HEZ

“" 2407/ 4401



2o} [ ofxa], uf Pl 27

OFRM [ 570 gEglolol2.
20t |79 Fulolar

OFX{M [ 2 7Hol) T4 glojolg.

Z2lop |%7taiglelar
O |25 5ol
majof |23 uf B

2.

= ™

o) (244874401

A= 2 A

"

“ “Student A: NISHH|L, A= A719) 2. Student A: QPFSIAIR,

A= 2eLpdQ. Student A: #7]R, ofFmL|. v LnjdQ?
Student B: 5 7ol Bt ¢ojol&. Student A: 7I$]E Znjoa?
Student B: o] € 7lof] @A Yoo 2. Student A: F7} &3lojQ?
Student B: 2% 319Jo]Q. Student A: 13 8] T 7] FA|Q.

- I191E FI91E FI91E & 7 FAI8. Student B: Y] 97] oj2. E

2412, Student A: ZHARILITE. Qhgs] AN L. ], Z3oja.
44, 30012, Y] 3ol .. OK A= &2. o 7H, & 7H, Al 7, |l 7,

ohA 7N, oA 7, L3 7H, o5l AN, oFF 7N, B 71 okay? & 7H, & 7N, Al 7H, Y] 7H, okay you remember this one huh?

You need to practice more huh? OK £0}8.

3HLERA|R 39 U, “Student A: QPFSHA| 2. 2= Afojtolofl 8.
Student B: A= Az|2RILch Y RIS Student A:
QhotA| L, ofAIM|. TRIoKE Fntol 22 Student B: 3t 71 A
Ao olof2. Student A: 22 AotoR? Student B: &
7ol 24 Yolo| L. Student A: H7t 29)o] 22 Student B: 25
Bloi2. Student A: 23 TRIGE g 7 AR, 2 B 7Y
ZFH|8. Student B: Y, 947] 9JojQ. E 2A4|Q. Student A:
ZARILICE QRgo] AH 2. Y] Hglolg.

“Student A: PISHAIR A= Z2IAQL|CtH Student B: A=
OFA|HA]JLICE. Student A: oF%|, ©7] dntof| 29 Student B:
gk gtao] 13,000 ¥olollf. Student A: BEE FojoQ?
Student B: St 7 TIARA ¢olof|lQ. Student A: ¥ BHl0| Q7

Student B: 25 9k)oJQ  Student A: 13 ©7| 3t HFA ZA|Q.

H=2g 3t 7] £A|2. Student B: 4], 7] 310]Q. Student A:

ZEAILCE Student B: E 24|82 Zglolg dl4: o U] of=zjE
dh4 A2|7} 2ot oo} 2] 3A) 37| 2 222 Hloja. OK.

\

Z2(0t | ofaR], mplofS Hnjola? ;
OFFM | gzl AR LMol 2. |
Z2jop [Z2 Pnpilgr

OFRM [ 7Holl 23 folofla.
T2 [B7Haoige
OFRA | 2% Bho]
Zejop |23 =
R

{ ) 12602 /441

Z2j0p | ofxK], Q7] Yt 27 |
OFF{M | ghRo] SR Holof. 2. |
Z2jop |M2o dnjilgr |
OFRM |3 7Hofl atxkd glojo]L. |
Z2jop |57} io)o]
OfFM | RE 5Holoj]
Z2)0p

2 ofA] £2] 3= fmopHo] 7k, fmolo] 7t ), o}7] fHupE o] Fo] Hej’? of7] fmufl o Fo] Heje?
}-L}-0O}-E right? SPLHRLE. £H0}7) o] 50| SILIBFEC| Q. Oh this is kind of a flyer of this supermarket, right?

Hana-mart. o] B7] gt #A0f Jojo) Q2 siL} 0fEC|A, Shit ofEo] T7] g dhAd] Anjofl @, of2{&2 gt upAo] F

dtao] gotdla? (3 9.} SU A ROl H A 2§, okay? 3 d, £ o8, 54 dojol|8. ©7] ¢ HA

S dolofl8. AtahE? Afte T 7ol Aot 82 Afat oA FHofl dofel ), o222 {4 99 .} AR oo 8.



Xzt chL R0l AH 7 olola. of g4, | ' HCHOHIER
MEqmoids M2qmoids At ol 7o roa
o] 22 AL A glojollg. A gojel’. A = £

ME 8T AR SRR

Ahd 9] 728 129 oft)7t o #22 Deo means 17 EUAEY

more, okay? T AT} cheaper cheaper okay.
olt|7t o #R? SILINtEZF | /-, NS4} T
w2 (N7 o A2} A2 A2 okay.
SiLintEZL 23 o HAR. ME4W7F o A,
SiLintEZF 23 o . U], Aloj.. of, 7]
ZHH glojg, of2{&. 24 gloja. 2p oM o
Stit ofEof|A] ot e? (43 Yolof .} A% Yol .. 2t oAl 7of| 413 fojof .. of J7 3t 7= dnfolle? &
=2 2h & 7 dotel|g, of=2{2? 23 gt 7] dofelR2 (5Hi.} of? (Wl Yojo|g ) © Qi fojofa. g7, g

M= 3 7= ol Yo Hi 9] 3} = QuH — =
Yoloj . ghotg, 2ol \;a;:}",),\ ROV LT

y... 229 22| A24mof 7te. A4 Hhe, £
w4y ‘

Hg4t. . AZAT, HSATON ] @ e > ETNS
sao] gololR? ASAHON 7] @ o] -

Yolol2? (28 Lol 23 Fple. o
il cmigielar APE dofeiziola.
fujolEoly oigiolz, ofetr ShstedlA
coigelar gy (8.4 of 83 U L

oo 33 Rolsiole. 54 9 ), ot LA

oEole %3 Rolsiol2. OK of, 247 2217 e A3 AS AT Folol2? (41 ) o, g4l
M2 45 712 424 4SO, o2 o 29 Lolol2. SHITHEAA Folgel? (13 9 o 4 olgiole,
43 0lglo}. OK U] of, ofel7h o s ofel7h o ser Mg 4t o e, skt slert o s (4g 45
SIAR.} of, T2 o, A FololR? 2L Jololer 347 (414, A A1 4] 0] 4] %0 404 Folol.
71009, B2F= @ o] gojol2? 324 @ 9ol oM Wlole. Fak ¢ 4ol Yolel? 1,500 Folole. ),
231012, o} 3ol felt. 0K of 32} 2 4ol 229 U, K@ Aol SHITLEAIYE Foigeler Zleter
Remember that? {oFH]2.} 719 QF 1122 A& 71=i9lo} 8. of, 22} shintEdfA dufe]8? 1,350 . SHjutEdA
& 0] 22} ¢ 900 BA1, of A B AL BAPIAHY Fololg. ofcl7h of ahe? ShIotEs) of Me, Hg4u)
422 0| A SiuiotE7} o M. 1,340 olgiole. OK ), F5iol. A8 Aol 2feiol 2ol W2, 1937
M 4HOA 20| o A2, Siulot ol Bt o sk B2bt 22t Me. 2, Tole, ofPlg. & Tele.

BPLOLE & 2kl ojy
o] ool 27



£|(Listening) OK now we’ll move on to listening okay, listening

_ ; : "7 section. £7] £7] Y. Listen carefully and write the price
1. Listen carefully and write the prlc% of each item.

¥ price of each item, okay? Price means 7} 7}-4. Say it
2': el ) together 7124, A2}, 714 714 7t ], Eot L. 71Aolo 8. <&
3 A=SA =3 AHEAR. 1. 1) o Aok shld i
N otoady [ 5400 YUk o, o2&, Aloj3 sjito] Lntele?

{5,400 9.} 5400 YYLlct LHAME Holofa. AR,
WEA|L. Try to write uh okay. @AM Yojoj g, |, I}t
2. +2) 97|12, MESIA] glol 22 . glola. Fntell a2 2,700 BULITE.” ). 4718, MESI] 9loj8? 94718 Sheis
ordering sandwich right? OK 20t Q2 HES]X]. o2} Anjeg? «2) oj7]Q, MESA] 9loje? U], gloja
dnte 22 2,700 FYLIch Fntel R, cj2}e? oW Yojo 2. MEAR. OK 1 thg 3. «3) ofo] 7] A2,
Aol 22 3,800 YYLIT). 4,800 YolR2 of]Q. 3,800 €o]R.” Y. ofo]AAL|E Anjdla, ojzjE? (3,800 Y.}

AR Yolo]2, AT Yolo] 27 AT Polol 2, AT Holol 22 Aolol2, Alela? (1.} A¥T ¢

o)

APATHRY] okay. This is a little bit confusing, okay? Even to Koreans, okay? So it's okay. 3,800 9, 4,800 9.
Ifit's confusing you can ask it again okay, you can you know ask to clarify, uh okay? 4] £0}8. «3) ofo] A#x]
FA|Q. ofo]azjm]. Znjde? 3800 YYLITh 4,800 Y€olg? oR]f. 3,800 HolR. U, ofojAFmE
3,800 Yo|glo] Q. AFxTH flojglojQ. OK Y|, 1 TH. «4) ¢}7]Q, o AT A 9Jo] Q7 o] AT A of A4 ],
U], qloja. Aot 82 gt Zhof] 3,200 AL Bielo] a2 Y, A Bielo]2.” ] ol. We have this question again,

this kind of question, yeah a little bit funny a little bit foolish question yeah but it’s okay, it’s good it’s good
okay. It’s kind of an interaction uh. 4] £0}2. gnjoj|Q of2|2 o Axy A Hu|= o AxeA Anjef|Q? {3,200 Y}

Aol ¢ ghop g7 T}A] ¥l S0]Q. «4) 0)7]8. ol AZ A 9lojR? Y], gloj.. Fntolla? g ko]l 3,200 AULITH
2o 2? . gt 3ol 3,200 AT F ol 3,200 AALITE. F ol 3,200 AULICE B3lej 22 W], FE Biglol.”
U, AL HY means really uh?. It is really tasty okay? F% BglojQ. T oigloje Aot giglejg . 4], AglojQ.
4], 22 o2} o§7] Alo]2 Alo] 2 sjLtof] Aot Ho] 3 3t 7] 5,400 AULITE Frot2? =22 You wrote it
down right? 7|o]3 & 7o QWA @uict. 1 thZ MELR]:= dntglele? MELR|= MEQA o

2,700 Yoloje. odU gojofe. oo AL 3t o] £7|(Listening)

olo] AF|T]|&= An}gio] Q2 ofo] AAT] (AFA. ) At or AL, A or AF? 2 .
oIz 25l oIZ7T] (...} A or AL A or A 1. Listen carefully and write the price of each item.

Uh okay. A or AFA? Yes okay. 41 BrotQ 3% g Higlo]o]| Q. - A
< - - 5 £
OK let's practice. A{TH ¢ 34 gl 3 3 3 okay? APA ol Aol 2 5,400 J&
T 91 4 3 g M. 3 9 8 1Y), 4,800 Y A1, 3,800 9, 4,800 L a A=A [ 2700 ¥
HIx] 9 H}x] H}z] O Arz]IHl Q]
oAz A= dnte]g? o AT A7 A oY Yojolg, Ft o Anaa (o 2

Sloj2. A Biglol’. of ob Agiol’, of=i 2. ” V———
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2. AR = 19, AR AR, A2l ojr]of 7kR? AR]e oftlo] 7te2 2 ¥, ERYe ERY2 RS RO
H.9l-0]-2 HQlo]Q7? Past tense, okay? Z2|¥2 RS M°187 We have A Ml HEY B M7 =71A.
Donkkaseu is a pork cutlet, kind of a pork cutlet, okay? 4], £0}2. @, of7] H]{I5I5}2 = This is guk, okay?
Kind of soup, guk. 97]= E7tA51 o]A= o7 g & ‘?} 9ol Y| 1 .} o]AE Hall2 ZX]. Looks like
gimchi, right? Gimchi, this is another side dish huh? This is another side dish. And °|A= Q2 o]7=
Hol 27 Side dish is, you know, what is a side dish in Korean? Side dish is banchan. Remember? ¥F2+ #E2t
OK we have bap. We have guk. OK this bibimbap here, this bibimbap is a main dish, right? Bap, guk,
gimchi, and a side dish, side dish, side dish... Actually we have more side dishes okay, two or three uh at
least three side dishes, okay? o|A= Ho]| 2, of=2|&2 A yogurt drink, yougurt drink, okay? £0t8. “& £ 2=
A2 22Ale. e A, A3 Bl o2 ohla. sG] te. Felet Al A Eglolar ul. STl
wslole. o5 k7t Hole? A it ol B tlkE EvtArdle. Zeig A @ ugelar Ak B3 84S
ol e. JzA HHIEEE Hlol 2. vlilto] dntafl 22 2,500 ool . Hsto] #tx Biglol e » Wtote? ), g ¥
gt o, o Zo] SojR. 2| A, 2|5 =AY 7122 oht|. sPAF| 7te » U, o2&, Z2lE ofr]] 7122
2] ofrof| 722 (3Mg AP 7t} of MY AlFo]| 7t AlFo 7t2. OK. “Alg EAHo]| 7t22 22| A, A5
£ 7122 o2, S Fhe. Z=1o M A Eiglelar Ul SHgAgeld Hglela. 9 tlkAt Bl
A Tl Bo|T B ks Erbrdle. Zelef Ak E Hglelar At §3 84
sisiole ~ 329 M B Hglole, ofelr <32l Al B Eglar At 93
s 7 glola, upo] Aokl 2,500 Yolola. o] 4D
i 2. Listen carefully and choose the correct answer.

giglela. ] u, 239 o] ] 2% A EpE

/2Rl olelol 7192 ;M e - o
0zd o0mAE @NT oAma LR OK IH ATt ey

N5
718, 2 3 ¥, answer key, okay. 2 ¥ 22|¢2 £9
HlolR? Mk mglele.) 1 yojole. of Hslgt
Hele? 7 Bt= FAS Forll.} H? Why? 9
HAS Bigioler of 3209 AE B3 842 Folole.
J2) 3 H]HiEto] apa /b2, Bhgloj e, At1l, BEglol . Yeah,

that's what he said, right okay?

10

dN

o]-cﬂg _lEH}\-] u]uh:l}o

oy

o
=l =]
oAl
o=

Zolof| Q. JzjjA] HjHlErS

C

=2

2 el 2918 Hgola?

@] @@ 5

| ST |

tlo mjo

{AYTEEPAS mgg
) 420574401 B

4, 3§ 2= 22 124 1, 22|92 2292 E71AE gL 1zAe.
Holoje. gote, E8Q9 (E2j ) E8iQ. =7IAE ot Hloje.
E7FAE QF HQloja. 2 H, A=) HAIE o Hylola. Tolg?

a]h ZAlL 0 mmq_g__
E@igy (Zota ) Ael: AL o oolle. Yoie, E3e9 SR 3
o 150080ja, ) H0O 56
{Zot8.} Fot8. OK this is kind of an inference inference #ows) :
et O\?d st g

statement, okay? 4], Zot2. Az|= A4S oF Hgloje. A >(
oftlof 7}29 &HAgAlLto] 7tQ. OK 3 #, HdlHke 1 500 Yool L.

43:31/44:01




I can read this one. 4281 . | HJRRFLS | 500 Yool Q. Yo7 (E3{Q )} E8|Q. &nldR7 2,500 HoloL
okay. This is ©]3, 0]4 28 Y okay. So 1,500 won, A 2H8 ¥ QW 2 We don't say ilcheon, okay? Y%, no
no, okay. Just say , 24 . 1,500 won. How about 2,500 won? O] 2} ¥ o]l Y 1 of2{R oj
Agjola.

q7ptAl AR, OK? 4, 252 97|7A|

Uk, ofels ol AL o o3 By

(e[}
-
¥
o> rlo

b ) :| o) 43';34/44:01



